1 Fpd

2016%E QB Yy’

BilG8)

(BRARIEAL)

IBGL | Trvy| K2EHE | BE EF 4 24 | [@% | YDS |LoNG| SAF
1 B BEX 99 [FEFE B 2 5 42 12 0
2 B E L% 11 |FHB ITF7LLE 3% 3 4.5 12 3 0
3 B RERERKX 91 |[##E B— INLoqY 2 4 35 1 0
3 B EmiZEK A FHIE %0 4 4 27 11 0
3 B BEX 25 |FiE B# 4 4 20 7 0
6 B HEK 99 (FE RNRE 3 3 16 9 0
7 B E L% 41 |fRE @#E 3 2 19 12 0
7 B BEX 5 AHE EF 4 2 15 10 0
7 B TR 9 & -8 2 2 14 9 0
7 B B R 41 [/l K— 4 2 14 7 0
7 B RIER 51 |&8@] #A*K 2 2 13 8 0
12 B HEX 59 |fRIEZ 6B 3 2 12 7 0
12 B BEX 44 |HE {EXEA 3 2 10 7 0
12 B EniER 42 |BAT ®{X 3 2 8 5 0
15 B EniER 52 |MIER Atk 3 1 10 10 0
15 B BEEX 2 xR & 2 1 10 10 0
15 B HEX 44 | EN 3 1 9 9 0
15 B E L% 42 (8K Y S 1 1 9 9 0
15 B E L% 8 |=E 15 1 1 9 9 0
15 B ok 99 |iEE = 4 1 8 8 0
15 B TR 68 |[1EH fIF 2 1 8 8 0
15 B E L% 99 (5 @3 2 1 8 8 0
15 B EniER 11 |E BE 4 1 6 6 0
15 B ok 58 |[IRE FE®E 4 1 6 6 0
15 B EiEXR 99 (MIER O 2 1 5 5 0
15 B HEX 5 Bl BX 3 1 4 4 0
15 B BHEX 50 |#EH &9 3 1 4 4 0
15 B HEX 58 (B Ko 3 1 4 4 0
15 B TR 4 |TRFY> BhE 3 1 4 4 0
15 B EiEX 49 | XKW f&—ER 3 1 4 4 0
15 B EniER 50 |(fEE Rl 3 1 4 4 0
15 B HERK 9 |([EHE BA 2 1 4 4 0
15 B E N 5 | KA & 4 1 3 3 0
15 B HEXK 60 [=fE ®&F 4 1 3 3 0
15 B EniER 94 |(fRE &F 2 1 2 2 0
36 B E L 9 [&xkx #EH 3 0.5 3 3 0




